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For #7-10, identify if the function is a growth or a decay function.
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15. Samantha buys a house for $125,000. The value of the house increases by 3% each year.
a.) Write an exponential growth function to model the value of Samantha’s house t-years
after she bought it.
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b.) What is the value of Samantha’s house 7 years after she purchased the house?
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16. Jimmy buys a car for $15,000. The value of the car depreciates by 7% each year.
a.) Write an exponential decay function to model the value of Jimmy’s car t-years

after he bought it. 4
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b.) What is the value of Jimmy’s car 4 years after he purchased the car?
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